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And he plasters it with lime - 7902 7O

Overview

Regarding the first set of damagers in our mwn (121 M2) the mwn writes '7°02 707!
Regarding the second set of distancing (131 n93) it seems that it is not clear whether
the X073 is 7°02 701 or 7°02 70 . Our MdOIN offers his opinion.
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It appears to the >''2 that in the X2°0, the mwn reads 7902 701 and it does not

read 7°02 70 IN; Moo proves this -
=15 01 10 NY92TY *mvan )2 ON 7°02 90 IN K901 1)°09) 'NT

For if in the X230 the X0 is 7902 70 R, we can therefore resolve the query that

in the Xw>1 the ruling is 7502 701 -
= NOYD2 135 NYI2 70 IN NP N1

Since in the X1 it does not state 70 N like it states in the X29; rather it states 70,

so what is the query?!
= 10) D) ) NOYDA INT NHN

Rather in the X2°0 we are also 913, '79' (not 70 1X); therefore the X3 queries whether
it is 707 or 70 W in the Xw™ —

mooIn anticipates a difficulty:
- 54502 70 IN 91 NOYDAT (4,03 971079 “NIMIA %Y ROIWST N

And the reason that it is obvious to the X223 that in the 820 the ruling is 7592 70 W —

mooIn responds:
:191INY O 15 999 XY N3N 99 95 PHNN PRT OIVN 13N

This is because the damage in the X5°0 is not the great, that 750 alone could not

prevent it; however the damage in the Xw is greater; therefore we are not certain whether in

' The x7»3 later on X,u° queries whether this means that we require two things, to distance three 2°nov and 7°02 70, or
only one is required; either distance three o°rdv or 7°02 0. See ‘Thinking it over’ # 2.

2 The x9°0 here refers to 131 2°1OY TWHW 191 NOAT DX PRMN.

? See footnote # 1.

* The X3 when attempting to resolve the query whether the ruling in the X2 is 701 or 70 X, stated that it must be
701 for if it is 70 W, why divide the 71wn into two categories (the X1 and the X9°0), since by both of them the rule is
701, the 73wn could have combined all the cases and conclude 70 X 2 19v " It is apparent that the X3 assumed that
in the X¥5°0 the ruling is 70 W (despite that it is written 707). This presents a difficulty according to the " no7° (see
footnote # 5).

> Since (according to the *"9) the X073 is 702 701 both in the Xw™ and the X5°0; why is it that regarding the X2 we
are not certain whether 701 means 701 or 70 X, but in the X5°0 we are certain that 701 means 70 18?!

® The ?1°77 in the Xw is from Xn1nn (moisture) and the P19 in the X9°0 is from 92377 (heat).
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the X7 we require one or both of the remedies.

Summary
We are 701 071 both in the Xw™1 and X5°0. The damage in the X1 is greater than in

the x9°0.

Thinking it over
1. According to the °"7 we are 0711 both in the X7 and the &9°0, 7°02 70). It turns

out according to the query of the X773 that it is possible that in the Xw the word
701 means ‘and’, and in the X9°0 the word 701 means ‘or’. It seems unusual that the
same word in the same m1wn means two different things!’

2. mooin references the query later in the X»3.° The X3 there’ reads; 1% Xva'R
73N 7°02 70 IR KM?>7 IR 110 7°02 701. Is the &7na asking what is the proper 807 (in the
Xw7), or is the X713 asking how do we understand the &07°3?

" See (X0 1apY) o1 NN,
8 See footnote # 1.
R,
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